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71--75ADBAA 【参考范文】 A boy doesnt become^ man at the

same age at 76 a 77 /everywhere in the world. Many people in

America felt that a boy becomes a man when he is 78 felteighteen, it

is different for an Eskimo boy. 79 right An Eskimo boy becomes a

man since he kills 80 whenhis first polar bear. The polar bear, that

may be 81 whichnine feet long and weights 1,000 pounds, is a 82

weighvery dangerous animal. To kill one take a great 83 takesdeal of

courage and skill. The boy who can kill a polar bear^ developed the

skills and courage that^ 84 has 85 itneeded to be a hunterand a

Taiwan lies to the east of the Chinese Mainland on the west of the

Pacific (太平洋的) Ocean. It faces Fujian Province across the Strait.

On its north is the East China Sea and on its south is the South China

Sea. It is the largest island in China. This island covers an area of

about 36,000 square kilometers and it has a population of over

20,000,000. It is rich in natural resources. Its fruit and tea are very

popular and people come to visit this island from all parts of the
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